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). SEMESTER EXAMINATION DECEMBER -2013
[First Semester] Three Years Diploma Course in Civil Engineering [322]

First Semester] Three Years Diploma Course in Civil Engg. (Environmental Pollution
& Control) [323]

[First Semester] Three Years Diploma Course in Electrical Engineering [328]

First Semester] Three Years Diploma Course in Electrical Engineering (Industrial
Control) [329] : |

(First Semester] Three Years Diploma Course in Electronics Engineering [330]
[First Semester] Three Years Diploma Course in Electronics Engg. (Modern
Consumer Electronics Appliances) [331]

[First Semester] Three Years Diploma Course in Electronics Engg. (Advance Micro

Processor & Interface) [332]
[First Semester] Three Years Diploma Course in Electronics Engineering (Micro

Electronics) [333]
[First Semester] Three Years Diploma Course in Instrumentation & Control Engg. [338]
[First Semester] Three Years Diploma Course in Mechanical Engineering

(Automobile) [341]
[First Semester] Three Years Diploma Course in Mechanical Engineering (Computer

'Aided Design) [342]
[First Semester] Three Years Diploma Course in Mechanical Engineering (Production)

[343]
] Three Years Diploma Course in Mechanical Engineering (RAC) [344]

[First Semester
[First Semester] Three Years Diploma Course in Mechanical Engineering

(Maintenance) [345]
[First Semester] Three Years Diploma
[First Semester] Three Years Diploma Cours

[355] - )
[First Semester] Three Years Diploma Course in Information Technology [356]

Course in Chemical Engineering [352]
e in Computer Science and Engineering
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Code No. : 2041(A)
APPLIED MATHEMATICS -1 .
[Maximﬁm Marks : 50
[Minimum Marks : 17

[1,69,320 wfwi] |,

) Time : 2.30 Hours]

NOTES :
i)  Attempt all questions.
i)  Students are advised to specially check the Numerical Data of question

paper in both versions. If there is any difference in Hindi Translation of
any question, the students should answer the question according to the

English version.
i) Use of Pager and Mobile Phone by the students is not allowed.

Q1) Answer any ten parts of the following from parts a to e select the correct

choice in the following. [10 x 1 = 10]
a) The sum of 10 terms of the series 4 + 8 + 12+ .......
i ) 110 o om 220
m) 330 iv) None

bj If 7 (x) = tanx then the value of /(60°) is
D3 | ) %
i) o iv) 1
¢) If@=2{+3j+k then [a] is

D V2 i) 14

i) 11 : iv) None
d) The value of sinc + cos?o is

) 0 ' i) 1

i) -1 < i iv) None
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[1,69,320 wfai] Code No. : 2041(A)

. d’y
e) The value of \ IS
dx”
1
N2 ]
) 0 —
X i
1
1) ] iv) None

where v = log x

il 2 3
f)  Evaluate }4 ) 6.
7 8 9
. xX=9
g) Evaluate lim——
=3 y—3

h)  Find the differential coefficient of x log x.
i)  Change into Polar form -1 + 1.

-

. . : .y :
i) Find the equation of tangent to ellipse F+—‘1—=l at point (1, 2).

k) If =i+ j-2k and b=3{ +2]-k then find the value of ab.

3

D Ify=x+32-7x+9 then find )

(PTO)
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Code No. : 2041(A)

[1,69,320 wftv] e
Q2) Answer any five parts of the following : ]

a)  Which term of series 1, 353, e is 817

b) Find the sum of series 101 +99+97 + ... + 47.

c) (2+3l) change into a + ib form.

5-i
d) Find the differential coefficient of cos(tan x°)
e) Prove that in AABC |
a(bcosC - ccosB) = (b* - c?)
dy _COSX

fy 1If y= n,x+\/sTnx+,/sm,x+ oothenplovethatd 2y1

NYSRA
g) Prove that (1+l)4.(1+;] =16

Q3) Answer any two parts of the following : - [2x5=10]

1 11
a) Find the independent term from x in the expansion of (2)64 —37)

b)  Solve the equation x* — 1 = 0 using Demoivres theorem.

¢) Show that the angle between vectors 7=3i + j+2k and b=2{ —25+4k

) 8
is O=sin'| == |.
(\/7]
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[1,69,320 wfe] Code No. : 2041(A)
Q4) Answer any two parts of the following : [2 x5=10]

a)  Solve the equations using Cramer's rule 6x +y —32= 5,x+3y-2z=)
and 2x + y+4z=238.

b) Find the differential coefficient of |fian x from the first principle.

dZy dy O
¢) Ify=acos(logx)+ bsin(log x) then prove that * —(1;-—4"1;1:*)’

Q5) Answer any two parts of the’following : [2 x 5=10]

& [ x+cosx
a) Find the differential c?‘efﬁment -
b) Ifvectors a 17 are such that 7 +b +¢ =0 prove that axb=bxct=cxa.
: X 2 —1
c¢) Find the equation of Normal to the curve ;lg+-b—2—— at (x,, )
MPT.0.)
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5 g i |
. e - mﬁg@ .
| | mﬁﬁ@,ﬁmﬁmmﬁamwﬁmgﬁm[mx1=101
2.1)%;4+8+12+ ....... %W@W?ﬁﬂﬂ*ﬂl
#) ) 10 i) 220
ii) 330 M) wET
o aR /()= tans @ f (607 FEAT L
) B NG
i) oo | 1) 1
@) aR g=2f+3j+k 7@ [a] EWI |
3) sino + cos’oL T A FA | |
D0 i) 1
i) -1 iv) g @
) d—faﬁrmgﬁml
dx
| |
1
i) = 11 ?
1 ;
1ir) o iv) i3 &l
a? y = log x
F - 4712 I,

Scanned by CamScanner




L(A)

10]

Code No. : 2041(A)
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1 3
)  FTAR o
7 9
I x*-9
) ‘l_f};x 3 T 7 {0 & |
a) x log x T 3rEehet U T A |
a) -1+ i@ yeig w9 H age |
2 2
) W%+%=1%%§(1,2)mm%@maﬁwaﬁﬂl
) wﬁazhj—zéaﬁ11’7‘=3§+2}-1€?ﬁa.1}'mmaﬁw&l
d’y
&) aﬁ{y=x3+3x2—7x4é9a‘rg;3— 1 7 A A
H.Z)W’ﬁawﬁaﬁwsﬁﬁlﬁl [5 x 2 =10]
3) Qyﬁl,ﬁ,& ...... 1 & @1 ug 81 Fm?
7)ot 101 +99 +97 + ... + 47 T TRt [ A |
2+3i)° .
@) (5_;) @ g + ib T A T |
2)  areeRe TUiieh W HU cos(tan x?)
) AABC @ frg &2 |
a(bcosC - ccosB) = (b? - ¢?)
_ COosX
1)) nx+\/;1:1x+«/smx+ oo Tt firg dx 2y—1
1Y
&) Rgw (1+i)4.(1—3{-—_) =16
i
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w.3) fredi 21 st 8 gt A | (2% 5=10]

11
37) (2,\4_—51;_] %Mﬁx@mmm@ |

) g TEa -1 =0 R g = |
@ af g=3i+ 42k o b=2-2j4af @ Rrg FA T A F PO

0=sin"l(72_7—)_
W.4) e 2 it g R | [2x 5 =10]
F) e Fam @ fra wfwm T ®W 6x +y -3z =5, x + 3y - 2z=57mW
2x +y+4z=28. v

7) wem frE= B Jtan x ?maxamgtmzaamwm

2
d
|) &R y=acos(log x) + bsin(log x) @ fag m&x +xd_i+ y=0.

w.5) PeRar i A o | [2x5=10]

X+COoSXx
) tan x

)mmmmﬁl

a) aRg,b,c MENTATIRE a+b+c=0 TE =6 7xb=bxc=cx7.

2 2,

q) G %+%=1ﬁ%§(xl,yl)mmﬁmmmmmw&|

PP P
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